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1. 	Define any ten of the following terms : 	1x10=10 
(a) Milk solids 
(b) Output 
(c) Resource 
(d) Motivation 
(e) Ledger 
(f) Equities 
(g) Market mix 
(h) MIS 
(i) Entrepreneur 
(j) Debt 
(k) Milkshed 
(1) Plant 

	

2. 	(a) Explain briefly various factors responsible 	5 
for milk losses. 

(b) A dairy plant receives 40,000 kg milk of 5% 	5 
fat and 9% SNF through road tanker. The 
despatch challan indicates 5.1% fat and 
9.1% SNF. Find out loss of milk solids. 

3. How would you optimise use of human 10 
resource ? 
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4. 	(a) Explain in brief different techniques used 	5 
for determing the product cost. 

(b) Describe briefly the Generally Accepted 	5 
Accounting Principles. 

	

5. 	(a) Write down various steps involved in 	5 
consumer analysis process. 

(b) Describe SWOT Analysis. 	 5 

	

6. 	(a) List five must have skills of entrepreneur. 	3 
(b) What are the signs of delegation failure ? 

	
3 

(c) What are the important parts of the balance 	4 
sheet ? 

	

7. 	(a) State four main challenges of operating a 	5 
small business. 

(b) What are the main components of a business 	5 
plan ? 

8. 	Briefly explain any two : 
(a) Operation efficiency 
(b) Working Capital 
(c) Demand Elasticity 
(d) Break-even analysis 

5x2=10 
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1. f 	4fFour-Erff W--A7 : 	 1x10=10 
(a) TN c 	tki 

(b) d011q-f 

(c) titif 

(d) 31fithuT 

(e) tglcif 	 

(f) f-4zre 
(g) fq-cruTi fi:rrrr 
(h) fdlTuriTE-49T 1;117-01.  (R-14.371.7f.) 

(i) TtITft 

a) 
(k) 	-STN Tfi.17 
(1) 	ki 	 

2. 	(a) TIT Uftzlifrig dl-Rq wR--4 	Bfk-rcu 4 	5 
aul 	I 

(b) 	c;i1 TzT 	 40,000 ft. 7T. 	-511fRT t1 	s 	5 
U-TA. chttlltfqff4 5% 	749% 74.7A -̀b. 
tI 	ttit 	-.1101-1 	-4 TT 4 5.1% akii 
74 9.1% 71.7.T41.1 TIT -cmcn t I -s-Tq dl 	ti  
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3. 	+-ii-tof *PA 	te4-14-1 3T 3117 f*-ti NchR 	? 	10 

	

4. 	(a) 	dr-Hq 	 f9 N11-17 	 'qTf 11r4-q. 	5 

ocr-)41.14 	 -i119- .4f-A7 

(b) .W1-11-1c1: Ta47 	#14-M T TAT7f 14 	5 

4f-A7 

	

5. 	(a) 	3z411f fq-VisfErT -51--Rif 	(LH 	Fri d 	 4 	5 

11 r( 

(b) `TEITa t  reRctiut r au 	 wri7RI 	 5 

	

6. 	(a) .3-frit. .T1 ITN 3-Tr7-3T147F 	 3 

fffr7171 

(b) 34f4Wr{ af-d-Tur 	t 	t? 	3 

(c) 	 TA.  t 	31TITTT 	 4 

	

7. 	(a) 	1 (4) .ffl cqclkil4 	4sc11(1-1 	aiT4 	74It TICar 	5 

1-91-f-d-zff   I 

(b) oe-itc44i oh 4T 	r 31-d-ziq 	chl 	 R4 	5 

t? 

8. 	ftt ch) 144'cir 14 TcrtZ •W11-4R I 

(a) LI -c11(1-T f9TFTUT 

(b) ct)141(1 st4-  

(c)  

(d) rciqc 
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